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Note : Answer any five questions. Each question
' carries 10 marks.
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1. (a) Ifu =_{a, b,c,d, e £}, A= {a, c, £},
B%{e,f}ﬂlenﬁnd: _ 5
(1 AuUB (i) AnB
(iii) (A UBY (iv) (AnB)

IR u=1{a, b,c, d e £}, A=1{a, c, f},
B = {e, f} T s $ifoma -

H AUB (i) AnB

(iii)) (A UBY (iv) (AnB)
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IfFA={2,3,4,56},B={3,4,5,6,7} and
= {4, 5, 6,7, 8} then prove that : 5

(AuB)u C—_FAU(BUC)T__ -

afr A= (2,3,4,5,6},B=(3,4,5,6,7) &R
C=1{4,5,6,7, 8} &= ﬁﬁm :

(AUB)U C=AU(BUC)

Evaluate : : 4
im x°—16
X —4 X — &
llIIl B K_i —"-_-.16

If f{x) = x* + 8x> + 9, then find the value of

f(4) , f(0) and f-2) 6
AR fix)=x*+8x2+9, A £(4), £(0) aﬂTﬂJZ)

dy
Ify =x*+4x2 + 2x + 1 then find -

' d
Qﬁy=x3+4x1+2x+lﬂazxy”ﬂqﬁm
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(b) Evaluate:

(3)

I (sin x cos x)

S i -

I (sin x cos x)

4. Ewvaluate :

(a) _[(x‘ +sec?x )dx

(b) I(3K2 +2x+ 1) dx

FT BHig -

(a)
(b)
5. (a)

(b)

NS-3461

| _f(x"+ seczx)dx
I(sz +2x+1)dx

State Binomial theorem and Simplify : 4
2x3x
7
Taue-59Y & B9 [IRaT aer 93 Hifm
2x3x5

7
Find the value of log,,12. 6
[Given that : log,,2 = 0.3010 and

log,,3=0.4771] -

log

log
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log, 12 &1 AN S HifeTT |
[ & :log,2 =0.3010 AT log,, 3=0.4771]

1 3
1fP{A)=-§andP(B)=§,ﬁnd: 5

(i) P(AorB), if A and B are mutually
exclusive events.

(ii) P(AandB), if A and B are independent
events.

uﬁP(A):% efnTP(B)=-;1,§na Hifmg -
() PATB), AR A T B TRET S

e § |

(i) P(A ST B), 9l A 99T B @iy "eaw -

Bt

If one card is drawn from a well shuffled deck

' of 52 cards. What is the probability of drawing
an ace ? >

5200 B A B TR F Y wp arr HGE
AZ=BAT BRI TG 2 | 95 99 3996 (ace) B
TR RS SR i |
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(5)

3‘ () Find the mode of the following
distribution : 6

P
1]

c.1.110-20]20-30]30-40] 40-50{ 50-60| 60-70| 70-80
[t] 4 [ 8 15|20 s ] 4]s

P R 1 Sgerh S HifP

[ Y IFTeR 0-20{20-30|30-40|40-50( 50-60{ 60-70| 70-80
| =T | 4| 8 15 20 5

4 B

(b) Draw histogram from the following data : 4

C.L|10-20(20-30{30-40(40-50|50-60|60-70

f1 2030 | 70| 55| 35 | 25

= ARl & ST R @ e AT ¢

P eFaa] 10-20(20-30( 3040]40-50
acsrar | 20 | 30 | 70 | s5

50-60{60-70
35 | 25

8  Find the standard deviation from the following
data :

10

—
40-50

C.I | 0-10 | 10-20(20-30 [ 30-40
f 5 '_10 1 15 1-; 4
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Py deq H HFh e d B

1 e 0-10 IO-ZGI 20-30 | 30-40 | 40-50

aoa | 5 | 10 (15 | 12 ] 4

Ten workers of a factory were selected at random.

The number of units produced by them on a working

day was as follows : 10
71,72, 73,75, 76, 77, 78,79, 79, 80

On the basis of the given data is it reasonably correct

to say that the mean number of units produced by

them is 78. (Forv=9, t,,, = 2.262)

WW%Wﬁﬁwaﬁmwgﬁ@a
frtl o 1 foaq X IR Rl g i S
o o=t e =t & -

71,72,73, 75,76, 77,78, 79,79, 80

T T B S 9T TE Hel Sy & e aare ¥
S aEgett H T 78 B
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(7)

10. ‘Write a short notes on any four of the

following : _ 25 x 4
=1 7 8 B R o @8 ¥ ol fyfae
(@ Sampling Theory
g
‘(7) Analysis of Variance
qqL frgeror
(c) Cla_ssiﬁcatiori and Tabulation
aifiereer we AReigT '
{d) Latin Square Design (L.S.D.)
et 7 ATeBedT
(¢f Correlation
WY
& Skcﬁ'ncss
fegTar
|
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